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M.Com. (Previous) ABST Examination, 2016
ADVANCED ACCOUNTING

Time Allowed : Three Hours

Maximum Marks : 100

PART-A (@UE-31) [Marks : 20
Anéwér all quéstions (50 words each).

All questions carry equal marks.
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PART-B (@US-9) [Marks : 50

Answer five questlons (250 Words each), selecting one

from each Unit. All questlons carry equal marks.
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FAKT-C (GUS-9) [Marks : 30
Answer any two questions (300 words each).

All questions carry equal marks. ,
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PART-A
(Eve-2r)

1. (i) What Accounting entry is passed for Inter Compény _
debts, if one of them absorbs another ?
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(ii) Define Taxable temporary difference as per
IAS-12.
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(iii) What do you mean by Preferential creditors and
Unsecured creditors ?
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(iv) What do you mean by Non-cancellable leage ?
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(v) After purchase of 80% Equity share of a Subsidiary
company, the holding company decided to make
a provision of Rs. 4,00,000 for loss of subsidiary
company after acquisition of shares. Give journal
entry in the books of holding Company.
EEE A R 80% W WF HE B UTEN
I HEAT A WeE® Al & Sy Afme’
F TTER T 4,00,000 T FH OB F o€ STEASH
S G A Y TR W R Fiare g

(vi) What is Non-controlling Interest and how is it
disclosed in Consolidated account ?

it frafea fed @01 € o T TEEA @l | fFE
THER e THAl S €7
(vii) Give any four examples of qualifying Assets.
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‘(viii) What is the .difference between Standard and
Substandard assets ?

wﬁa@w—wﬁawﬁfﬁw.w%?

(ix) How will you calculate weighted average number
of Ordinary equity shares ?

4 H?
(x) Write any two uses of disposable surplus of
Electricity Company.
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PART-B

(Eve-9)

UNIT-I

(3FTE-1)
2. Explain in detail the provision of IAS—12 for
recognition of : 2Vox4

(a) Current Tax liability
(b) Current Tax assets

(c) Deferred Tax liabilities
(d) Deferred Tax assets.

IAS-12 & T & oM & wau = S
(a) =G F A |

(b) =ME X FHEfa
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3. How will you deal with the following items in case
of Amalgamation of two companies ? 10

(a) Mutual debts
(b) Unrealised profit.
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4 Yash Ltd. went into liquidation on 1st January, 2016.
Certain creditors remained unpaid and the following
information regarding the contributories appearing
on list “B” are available : 10 ¢
Ty fafies 1 ST, 2016 I T ¥ TRl TR ED
Sl R T g § qen e | & g
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§ foew W &t o ° €, T e ST
Name of ; No. of Date of Creditors
Contributories  Shares Transfer Remaining

transferred  of Shares unpaid

related to

the date
of transfer

Rs.

Anu 1,250 Dec. 1, 2014 60,000

Manu 1,250 May 31, 2015 176,000

Ranu 1,000  July 15, 2015 86,500

Tinu 2,500 Nov. 15, 2015 90,000

UNIT-II

(gwE-11)

‘The shares are of Rs. 100 each, Rs. 80 called and

paid. Assuming that the contributories on the ‘A’
list completely. default, prepare a statement showing
the amount to be realized from each of the
contributories of list ‘B’
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5. What is main advantage of Lease ? How is it
calculated ? 6+4
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UNIT-III

( FRTE-I11 )

6.  Write short notes on the following and also explain,
how these items will be adjusted while preparing
Consolidated Balance Sheet : 5%2

(a) Minority Interest
(b) Cost of Control.
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7. The following are the Balance Sheets of H Ltd. and
its subsidiary S Ltd. as at date 31 March, 2016 :

31 =, 2016 W H s 9 SR WEEE SR S
= ﬁﬂ\é ﬁ'FT TER B :
H Ltd. S Ltd.
Rs. Rs.
Share Capital
Share of Rs. 10 each, full paid 6,00,000 2,00,000

General Reserve 1,50,000 70,000
Profit and Loss Account 70,000 50,000-
Creditors 90,000 60,000

| 9,10,000  3,80,000
Assets :

" Machinery - 300,000  1,00,000
Furniture ' 70,000 45,000
70% shares in S Ltd. at Cost 2,60,000 -
Stock 1,75000  1,89,000

" Debtors | 55,000 30,000
Cash at Bank | 50,000 10,000
‘Preliminary expenses T = 6,000

9,10,000 3,80,000

H Ltd. was acquired the shares of S Ltd. on 30th
June, 2015. On 1st April, 2015 S Ltd. General
Reserve and Profit and Loss account stood at
Rs. 60,000 and Rs. 20,000 respectively. No part of
_the preliminary expenses was written off during

4801/96/2,530 7 P.T. 0.



the year ended 31st March, 2016. Prepare the
consolidated Balanced Sheet of H. Ltd. and
subsidiary S Ltd. as at 31st March, 2018.
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UNIT-1IV

(FTE-1v )

8. Prepare the Profit and Loss® account of a Banking
Company for the year ending 31st March, 2016 from

the following information -

ffafen g 9 31 A, 2016 B D TN @
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(Rs. in ’000)

Interest on Loans _ 5,18,000
Interest on Fixed deposits 5,50,000
Rebate on Bills discounted B 98,000
Commission charged to Customers 16,400
Establishment ~1,08,000
Discount on Bills discounted 3,90,000

4801/96/2,530 8




Interest on Cash Credit Accounts
Intere_st on Current Accounts
Rent and Taxes

Interest on Overdrafts

Directors Fee

Audit Fees

Interest on Saving Bank Deposit
Postage and Telegrams

Printing and Stationery
Advertisement

Sundry Charges

Depreciation

Law Charges

" Repair and Maintenance

- Insurance

Provisions

Profit brought forward

Transfer to Statutory Reserve
Transfer to General Reserve

Proposed Dividend

(Rs. in ’000)
4,46,000
84,000°
36,000
1,08,000
6,400
2,000
1,36,000
2,800
3,800
2,000
3,400
16,000
1,000
4,000
20,000
5,000
50,000
1,00,000
1,50,000
1,50,000

What do you mean by Borrowing Costs? Explain in

detail the provisions.

4+6
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10.

11.

UNIT-V

(FHE-V)

Explain the disclosure requirements of TAS-33

(Earning per share).

IAS-33 H THAH ! STETIHAT hl B

A Power Company rebuilt and re-equipped part of
its works at a cost of Rs. 1,65,000. The part of old
works, which was replaced, cost Rs. 65,000. The
capacity of the new works is double than that of the
old one. Rs. 4,200 is realised by the sale of old

materials valued at Rs. 2,300 are used in the

reconstruction and in the cost of Rs. 1,65,000

mentioned above.

The cost of labour and material are respectively 15%
and 12%% higher now than when the old works were
built. The proportion of labour and materials in the

works may be takén to be 3 : 7.

Give Necessary Journal Entries in the books of the

Power Company under Double account system.

4801/96/2,530 10
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12. XY Litd. is formed to take over X Ltd. and ¥ Ltd. for
Rs. 5,00,000 and Rs. 2,50,000 payable in Equity shares
of Rs. 10 each. The Balance Sheets of two Comapnies

are given below :

4801/96/2,530 ' 11 P.T. Q.




wa@%ﬁﬁﬁwmma@ﬁﬁé@
o8 & fau &, &= T 500000 3 X 2,50,000
ﬁiionﬁgﬁaﬁmﬁqﬁlzﬁf'mﬁa’faﬂ

&

e A9 R ™ e
Balance Sheet as at 31st March, 2016
X Ltd. Y Ltd.
Rs. Rs.
I. Equity and Liabilities
(i) Shareholders fund
(a) Share Capitals |
Authorised - =
Issued and subscribed 3,75,000 3,00,000
Equity shares of '
Rs. 10 each
Reserve and Surplus' ©1,00,000 12,500
Reserve - -
Share application .
money pending
~ allotment
Non-current liabilitiés
Current liabilities :
 Trade payables : Creditors 1,50,000 50,000
B/P 25,000 37,500

Total 6,50,000 4,00,000

4801/96/2,530 12



II. Assets
(i) Non-current assets
(a) Fixed assets
(1) Tangible assets :
Land and buildings  1,00,000 90,000
Plants and machinery 1,12,500 37,500
(ii) Intangible assets - -
-(b) Non—current Investments - -
(ii) Current assets

Cash and Cash equivalent: - -

Cash at Bank 25,000 87,500
Stock 1,75,000 75,000
Trade Receivable - Debtors 2,00,000 1,00,000

B/R 37,500 50,000

Total  6,50,000 4,00,000

Stock of X Ltd. includes Rs, 20,000 purchased from
Y Ltd. on which Y Ltd. made 20% profits on sales.
Pass Necessary Journal entries in the books of
XY Ltd. and also draft the Balance Sheet of XY
Ltd. as on 1st April, 2016. '
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13. Shri Aman is appointed liguidator of Star Company

Limited in Volunary liquidation, on 1st July, 2015.

Following Balances are extracted from the books on

that date :

iw,zolsaﬁsﬁmaﬁwﬁw:ﬁﬁﬁm
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Capital

24,000 shares of

Rs. 5 each
Reserve for
Bad debates
Debentures
Bank overdraft
Liabilities for

purchases

1,20,000
15,000
75,000

97,000

30,000

2,67,000

Machinery 45,000
Leasehold

properties 60,000
Stock in Trade 1,500
Book debates 90,000
Investments 9,000
Call in arrear 7,500
Cash in hand 1,500

Profit and
Loss account'. 52,500

2,67,000

You are required to prepare a Statement of Affairs

to be submitted to the meeting of the creditors. The

following Assets are valued as under :

4801/96/2,530
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Machinery Rs 90,000
Leasehold Properties Rs.  1,09,000
Investments Rs. 6,000
Stock in Trade Rs. 3,000

Bad debts are Rs. 3,000 and the Doubtful debts are
Rs. 6,000 which are estimated to realise Rs. 3,000.

T T 3,000 % ¥ = " wmw 6,000 T % o
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14. Explain the accounting treatment of the Capitalisation
of Borrowing cost under TAS-923.

ms—zsﬁmﬁaamamﬁmm" H AGRT
STHR 9qmEy)
15. What is a Holding Company ? Explain the provisions

laid down in IAS-27 regarding Holding Company.
5+10
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16. Explain the meaning of ‘Reasonable Return’ in case
of Electricity Companies. How will you deal with
the Surplus profits over the above the Reasonable

return ?
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